



Löse jede Aufgabe.

Antworten

- 1) 4 feet 5 inches + 2 feet 7 inches = _____
- 2) 4 feet 9 inches + 3 feet 10 inches = _____
- 3) 5 feet 2 inches + 3 feet 5 inches = _____
- 4) 4 feet 1 inch + 3 feet 11 inches = _____
- 5) 2 feet 7 inches + 1 foot 10 inches = _____
- 6) 2 feet 7 inches + 1 foot 9 inches = _____
- 7) 5 feet 9 inches + 2 feet 11 inches = _____
- 8) 2 feet 10 inches + 1 foot 11 inches = _____
- 9) 2 feet 10 inches + 1 foot 11 inches = _____
- 10) 3 feet 10 inches + 1 foot 11 inches = _____
- 11) 2 feet 5 inches - 1 foot 9 inches = _____
- 12) 5 feet 6 inches - 3 feet 8 inches = _____
- 13) 5 feet 10 inches - 1 foot 11 inches = _____
- 14) 4 feet 6 inches - 2 feet 9 inches = _____
- 15) 3 feet 7 inches - 1 foot 8 inches = _____
- 16) 2 feet 8 inches - 1 foot 11 inches = _____
- 17) 5 feet 9 inches - 2 feet 10 inches = _____
- 18) 5 feet 3 inches - 4 feet 4 inches = _____
- 19) 5 feet 6 inches - 2 feet 9 inches = _____
- 20) 5 feet 6 inches - 2 feet 9 inches = _____

1. _____
2. _____
3. _____
4. _____
5. _____
6. _____
7. _____
8. _____
9. _____
10. _____
11. _____
12. _____
13. _____
14. _____
15. _____
16. _____
17. _____
18. _____
19. _____
20. _____



Löse jede Aufgabe.

Antworten

- 1) 4 feet 5 inches + 2 feet 7 inches = 7 ft 53in + 31in
- 2) 4 feet 9 inches + 3 feet 10 inches = 8 ft 7 in 57in + 46in
- 3) 5 feet 2 inches + 3 feet 5 inches = 8 ft 7 in 62in + 41in
- 4) 4 feet 1 inch + 3 feet 11 inches = 8 ft 49in + 47in
- 5) 2 feet 7 inches + 1 foot 10 inches = 4 ft 5 in 31in + 22in
- 6) 2 feet 7 inches + 1 foot 9 inches = 4 ft 4 in 31in + 21in
- 7) 5 feet 9 inches + 2 feet 11 inches = 8 ft 8 in 69in + 35in
- 8) 2 feet 10 inches + 1 foot 11 inches = 4 ft 9 in 34in + 23in
- 9) 2 feet 10 inches + 1 foot 11 inches = 4 ft 9 in 34in + 23in
- 10) 3 feet 10 inches + 1 foot 11 inches = 5 ft 9 in 46in + 23in
- 11) 2 feet 5 inches - 1 foot 9 inches = 8 in 29in - 21in
- 12) 5 feet 6 inches - 3 feet 8 inches = 1 ft 10 in 66in - 44in
- 13) 5 feet 10 inches - 1 foot 11 inches = 3 ft 11 in 70in - 23in
- 14) 4 feet 6 inches - 2 feet 9 inches = 1 ft 9 in 54in - 33in
- 15) 3 feet 7 inches - 1 foot 8 inches = 1 ft 11 in 43in - 20in
- 16) 2 feet 8 inches - 1 foot 11 inches = 9 in 32in - 23in
- 17) 5 feet 9 inches - 2 feet 10 inches = 2 ft 11 in 69in - 34in
- 18) 5 feet 3 inches - 4 feet 4 inches = 11 in 63in - 52in
- 19) 5 feet 6 inches - 2 feet 9 inches = 2 ft 9 in 66in - 33in
- 20) 5 feet 6 inches - 2 feet 9 inches = 2 ft 9 in 66in - 33in

1. 7 ft
2. 8 ft 7 in
3. 8 ft 7 in
4. 8 ft
5. 4 ft 5 in
6. 4 ft 4 in
7. 8 ft 8 in
8. 4 ft 9 in
9. 4 ft 9 in
10. 5 ft 9 in
11. 8 in
12. 1 ft 10 in
13. 3 ft 11 in
14. 1 ft 9 in
15. 1 ft 11 in
16. 9 in
17. 2 ft 11 in
18. 11 in
19. 2 ft 9 in
20. 2 ft 9 in